ESN

1. 801600 7. 69235 128000 9802
2. 70 2530 8. 58 169 177100 16215

304000 26866
3. 608800 9 38707 315500 28045
4. 40 - 7600 10. 71395 355500 30180

360000 33880
5. 903950 11. 88 - 385 460000 44832
6. 80 - 4500 12. 67 - 796 528000 23332

T kladdehaeft
Sin—l al?e dg ti deetr géropi10) TALBEHANDLlNG

Regn pé& den viste made.
87 -8=1640 + 56 =
52 - 6 = =
47 - 6 =

Dig Dyg

+
+ =
57 - 3 = + =
81-5= + =
69 - 4 = + =
42-9= + =
77-8= +
Dis Dy Dig Dy 86 - 9= + =

171 276 282 312 378
405 696 616 774

LOSNINGSMANGDER

1 3 5 7 9 11
2 4 6 8 10 12

X+5>10 L=A{
2-X+1>15 L=
12 x gar op L,=
X-522 L=
Xx+1 =10 L
15-x< 8 L=
3-x >22 L=
X+9<14 L=
2-X+1>10 L=
X+7=<10 L,,=
X garopi40 L=

2.-x-3= 21 L=
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